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PART I: ACCESS TO INFORMATION FROM WRITTEN TEXTS

Ol sl Jldp dBiByy 6 35 ArNan N oY Noanb Ady 9T nwon

(70 points)

Read the article below and then answer questions [-8.

I For many years, temperatures have slowly been rising all over the world. Now we are
beginning to see the terrible effects of global warming. For instance, changes in climate are causing
extremely hot, dry weather in some places, and flooding in others. The main reason for global

warming is well known: the huge quantities of the gas COy that cars and factories throughout the

W

finding ways to reduce the amount of CO» that is being released. However, many scientists believe

that we must also try to remove the gas that is already in the atmosphere.

II A group of Swiss scientists recently published a study that investigated different ways of
doing this. Their surprising conclusion: the best and cheapest method would be to plant one
10 trillion (1,000,000,000.000) trees. Trees naturally take CO; from the air as they grow. The Swiss
group claims that a trillion more trees in the world would remove most of the gas that has entered

the atmosphere over the past century.

III  The Swiss study has also identified where the additional trees could be planted. Using
thousands of satellite photos, they found huge areas of land available in Russia, the United States,
15 Canada, Australia, Brazil, and China. In several of these countries, there are environmental groups
that are already planting large numbers of trees. However, the Swiss scientists warn that such
groups can't plant enough to have any effect on global warming. For the trillion-tree plan to be

successful. the scientists say, governments must become involved.

IV George Manning, a leading British environmentalist. strongly believes in the Swiss plan.
20 However, he feels it is unlikely to be carried out. "T don't think it will get all the government
support it needs, because even today, most countries don't have policies for fighting global
warming," he says. "Look, for example, at Malaysia. You could plant billions of trees in its
rainforests. But instead, huge numbers of trees are cut down every year, and the government isn't
doing anything about it." Nevertheless, the Swiss scientists remain optimistic. They believe that the

25 general public is so concerned about saving the planet that governments will be forced to act.

4 Ty

PLANTING TREES TO SAVE THE WORLD

world release into the atmosphere. Attempts have been made to slow down global warming by
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\J,\\;"?‘/ N
l,\\‘,,l\’,\(;f,\‘":\\‘/} Answer questions 1-8 in English, according to the article. In questions 1, 5, 6, and 8, circle the
PG : . :
/1<\‘,}::""r’1(\‘ number of the correct answer. In the other questions, follow the instructions.
N/ s NN\
1, N7 B~
\E\I’ (‘ i‘)‘i % -\'\'\I"
AV : ‘
,:\\,7(" 4 - ,:\\,7 1.  What are we told in paragraph ?
SN BN ) R e
; |/\‘\,\, ‘o L |/\" (i)  Why the rise in temperatures is slow.
AT ARRE . .
VY n"": )  What has been done to try to deal with global warming.
A Ny y ° °
AV A1/
l:\\,j(,(; < \,:t (iii) How less CO; can be produced.
VNN e Ny )
’l/\\‘lll\f\ ,",’V\\‘ (iv) How scientists discovered the cause of global warming.
s le)N =N o
LOARR U (8 points)
(KN ll\\‘ . JINY
WA AR
S AVIV IS/
T47-7 XS B
'(\‘;z:‘\'\\ﬁ,v’\k\ /”: 2. COMPLETE THE SENTENCE ACCORDING TO PARAGRAPH I.
PR Y B4
VARGNZA VX ) . o
’\\l\"/\ # \\’—|’\~l\\ One effect of global warming is (extremely) hot, dry weahter .
‘,'I:\”/TI_/‘,'; . X
S NaDI IR -MAapiy MAwn (9 points)
N Oy
RNARAIRY e A
\,;}@‘—l\’._l'\,,}: 3. What did the Swiss scientists mentioned in paragraph Il try to discover? Base your answer on
710\ N I
\,::'\/:' <,(>/T,ll-/\,:<' A information in paragraph I.
WAL A ) .
,‘:\’7\"’}23{‘7‘:\,’: COMPLETE THE SENTENCE.
INARSESNY . .
\z\”'\l\‘lqv",\)}"‘ They tried to discover the best way (o remove the gas that is already in the atmosphere
Vel 3 sEOVEr the DESt WY U0 1w sssimsis i mtssasewwins s s fussswis amoronssvvv smessberutia
I\\/\‘/,’/’ ‘:'-'L,\‘/\\a (9 points)
N7
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IAVIL AL/ , , _ _
l,\\‘,,’\’,\(l/x‘.l,\\‘,,l 4. How have satellite photos helped the Swiss group? (paragraph III)
AW EAATOEEEST
A S I
4(\‘,,\::\7 A COMPLETE THE SENTENCE.
\ . . . -
KIang j by - identify where the additional trillion trees could be planted
‘Ur\\;’;! W) They helped the SrOUP L0 ..ii et :
4 i '“lj“.’ 4 9 point
INATAEN) nap1 X1 -Mmapi mawn @ points)
NSRSy
LA N 7
l/\\\'\: '/\‘ . _ )
\:/'\/'I(,’:g n:/,‘; 5. According to the Swiss scientists, environmental groups who plant trees (=). (paragraph III)
IN/GINV ! 9 INT4
) 1 ] 5
I:;‘,';\",’}! , ::"',' won't help slow down global warming
LNNIN, Gy, . )
\,\I,/\|\—l<;.l\,\,\lll‘ (ii) don't understand how serious the problems are
AN AL _
(A LNZ LN (iii) need to plant trees in more countries
N N7
NS LV, . . .
;::I’,\‘fl 7‘/\\:315 (iv) have started working with governments
|'/\‘/,l a& 5\'/“/,‘ (9 points)
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PART II: ACCESS TO INFORMATION FROM SPOKEN TEXTS (30 points)

Answer questions 9-14 according to the broadcast. In questions 9. 10. 12, 13, and 14, circle the number of

the correct answer. In question 11, follow the instructions.

(5 points for each correct answer.)

9. According to Fred's introduction, why was Susan Jennings invited to the program?

(M)
(i1)

(iv)

10. Susan mentions music festivals as something that (-).

(i)
(ii)
(iii)

©

TOURISTS EVERYWHERE!

To describe how the UN does research on tourism.
To explain why there are so many tourists today.
To describe problems caused by tourism.

To explain why some countries do not attract many tourists.

is especially popular with tourists
attracts both local people and tourists
provides work for local people

tourists spend their money on

11. According to Susan, why is travelling a wonderful experience for tourists? Give ONE answer.

COMPLETE THE ANSWER.

Because they can

12. According to Susan, what problem have tourists caused in Amsterdam and Barcelona?
(i) There are crowds on the streets.
@ Rent prices have increased.
(iii) The restaurants are very expensive.

(iv) Places of interest are especially crowded.

8 Ty

Nnavil IR -Mavi) Mvn

/9 Ty qenn/

ST
N> AARHLY
N INLAN\YZ
e
/.

/

SEP S )

N ol

\ ’\\ (A)
S
<

7,
-
A

~

L7 X4
)

-
-

S L P
|\ s IN/ N
L

'y >

/\"_
=\
P
S
//
y

274
N ININ

T
N7\

/

N
/)
4

o

=777
:,_’\\ N
LT

S
\

\"/‘ :
Ay

PXAY

=7
-
-\
Y

=77
(A}
AN

o 2,
SINDNEL
VASAQZ7SAN

A
7

’,”[,

~
\

NZ

S\

V"7

) H

\\\\l
~

g
3 \’\ N

2’ W

'—\ o
Ny

2 YA S/ N
’\ ’\

4
1.
1

%
‘;
7
/
o

Z-
<

7
M\
s
=
2
Z

Y
7~

>
Z

A
~U
I’ r
7
/,/\\
-~
A
>

,,,

N

X
7~

= ==
ZiSSINANL
& 1‘ \\\/l '
LTSNAT Pax
N A/, AR AY
<\ ~/,7\
ot NJZAY
- ‘7 —

// “

M\

=z

7,
e
T\
\‘\/_
i
Y on 7,
234
Z
M
oh

Yo

"’

o=\
N~
e

\//—,—s,/
AN

=y L=\
-t \\-'/
=>4
PR
hyA) ‘\_\
PN

,‘
7.
.
N
‘s
-
e

' INY
<
N\7

=

7> {
b3

&

=/

%
WL
</
4
=

T;(‘.’

\

Y

<
-

NI

NeAZ
\‘.’}\.\ -/

7
N2/
</

\§|
74N
XY)
-

>

N\ =
-} 2
LN

//’//, 2/

- —
AT

N\ 2N\

€
&7, \=N
IAYENN
IO VIAST
' /
NN/
Y\

il ol o da
LN
N

e
A

X

o3

pi:
\/\‘
172
DNE/
ANV AAY

/

\
<
‘/
\I

~ foe
P4
bt
/

.
%
</

3
<
W
N
I,’/
=

P W
\

/

.
/.

2
~
-

‘S

NEA

7

/

- o
' N
l\/ Vit
', 7>t
NI
PRI
Ny 2
/\-—/’\ WA
Y EAN 2N\

/ />
(Al
Y

\

-
,f
N
/-

\ KAl A S
VIRTEZANCAN
PP IN I
ST
NLANDINL
NN N

\

S

N1 1IN 2INIY KD
SN NN
NTICTTANGN
PP
4=
LA NN/
PEAVANNS N

Tl

l\/ ]

AN Z
YA AT, e
- -~
NE RIY

NSNS

N\

7
ASAX

_
TN
\V LAl
A\ S\NI= s
INn=l 2=\

— \\"'
‘174,

7 ’\‘1\’
NN

P
e
‘\
P4
Z
P


linoym
אליפסה

linoym
אליפסה

linoym
אליפסה


Y11 781

GEVA.CO.IL | 1-800-20-40-60

.0"MWONN N7

9

1nbyna
ORI NITNY AMNY 0IPA MR
NI TIWH MY NON DDIOY N P IIYAD PN

L
= L
R =
D =
[ = =0
| =
-y e
£ £
n c
—-N 173
n s k!
G & 2
g -
|2} =
a £ 5
= o
B = @ n o
n = = 2 3 =
(= s 8 R =Y ;
o = ‘T O ]
c g 4 = <
a ST z 8 =
m,H L = s w 2
~ = o - Q “, =
=< ) w.(lv D mm ..GL =%3]
g 238 % 22 =z 0w
2% /N % E &8 5 & s £ 2
oJd & 2 2 5 2 E 3 5 S
S h S o » B F 5 °
) C = = -~ 3 = 2 L5} o
aﬂ ~ o= amst = = 5] i a. [ &
, q 8 5 £ 5 2 84 &
s l o 2 = = = = o) o c =
M oy | = = — = = o <
<~ 5 « .= 2 = 2 o O 5
: > v £ o o Y G ST )
) 2 g 3 =2 95 £ o 2 = B =
in ] = (5] < o =] ] > = — =
Y G = o B » 2 2 2 B v
=~ § & 22L£f £352 222
.\‘U P - pos — e — = B @ % m
o 8 2 2 B B % 5 2 3 B
=" = o = O o0 2 A
7 O ] ® o
3 3 T I E B £ 8 5 8 5
= 2 B -~ 2 = 3 = o
- ~ 2 )= £ =z Q= @ =
< . .
. <
D pd B —
R
257 \l/\\/lﬂ\\_ S7riQ7 Y. A KA AIA T \rl.w\\«l/\\\
- -
;.\m,.»:/ uhv,:u,«..uzvmvrfm GN GCULT TNLL U .vuiivz
ARRAR YRS A N AR Y R R AR Y L R Y R S A 3
N N T P S A P SN PN SN
A N7 A ST VNP AT EGSNVNZASS NZAT S\ N7A
T A N Ay e N e
D) LN TN INIE

N\ A

N\

« : \I“J
A R CSTYE ST ey |
GNP S ANNNY
2 \\

>/

N7 NSNS\ N

Vrls
\/I\U///
-
\\IV\/\\
<\ \I Ay

-
—

.Y
WA

N

AR
N7/
4 JN7,

L7

)

-

el

=

~

-
W

~\

P4 S
I I\l//
.—I\I ~ 7L
ANAS A\\/II/
YA



linoym
אליפסה

linoym
אליפסה


GEVA.CO.IL | 1-800-20-40-60

V1 7Nr1

.O"WONN N7

no0)
016481 I"'nvw
(MODULE E)

NINOIN NINWUOKX NIAIYN

- flooding.

- find huge areas of land available for planting trees.

- learn about other ways of life.

- take a break from their daily routine.
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